magnitude/arcsec’2

INITFILE= NGC1415_bdbar.outgal FITSECT ='[178:778,228:828]
NGC1415.phot.1_nonan.fits CONVBOX =50, 50 ’
NGC1415_sigma2014.fits MAGZPT = 21.097

PSF-1.composite.fits
CONSTRNT= none

NGC1415.1.finmask_|
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INFILE: 2014-Jun-19
PLOT: 19-Jun-2014 12:54:36.00
nonan.fits s4g@fys091005

NGC1415 hdbar.outgal

OBS _ BULGE 0.341
DISK 0.332
— BAR 0.327

100 200 300
Distance along sky [pix]

COMP_1 = sersic
1_XC =[478.2250]
1 YC =[527.6920]
1 MAG =11.8529
1 RE =6.9304
1 N =0.9967
1_AR =0.4776
1 PA =-26.7537

COMP_2 = expdisk
2_MAG =11.8510
2 RS =77.4527
2_AR =[0.4025]
2_PA =[-27.6820]

COMP_3 =ferrer2
3_MU_0 =20.2426
3_ROUT =91.0054
3_ALPHA = [2.0000]
3_BETA =[0.000e+00]
3_AR =0.4469
3_PA =-46.0224

Chi2/nu=  5.73102



